
■ つぎの  にあてはまる かけ算の 答えを かきましょう。

2 × 31 ＝ 62①

2 × 32 =

2 × 33 ＝ 66

2 × 20 ＝ 40②

2 × 21 =

2 × 22 ＝ 44

4 × 21 ＝ 84③

4 × 22 =

4 × 23 ＝ 92

4 × 14 ＝ 56④

4 × 15 =

4 × 16 ＝ 64

3 × 22 ＝ 66⑤

3 × 23 =

3 × 24 ＝ 72

9 × 10 ＝ 90⑥

9 × 11 =

9 × 12 ＝ 108

2 × 15 ＝ 30⑦

2 × 16 =

2 × 17 ＝ 34

6 × 10 ＝ 60⑧

6 × 11 =

6 × 12 ＝ 72

3 × 32 ＝ 96⑨

3 × 33 =

3 × 34 ＝ 102

2 × 47 ＝ 94⑩

2 × 48 =

2 × 49 ＝ 98

3 × 18 ＝ 54⑪

3 × 19 =

3 × 20 ＝ 60

7 × 13 ＝ 91⑫

7 × 14 =

7 × 15 ＝ 105
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■ つぎの  にあてはまる かけ算の 答えを かきましょう。

2 × 31 ＝ 62①

2 × 32 =

2 × 33 ＝ 66

＋264

2 × 20 ＝ 40②

2 × 21 =

2 × 22 ＝ 44

＋242

4 × 21 ＝ 84③

4 × 22 =

4 × 23 ＝ 92

＋488

4 × 14 ＝ 56④

4 × 15 =

4 × 16 ＝ 64

＋460

3 × 22 ＝ 66⑤

3 × 23 =

3 × 24 ＝ 72

＋369

9 × 10 ＝ 90⑥

9 × 11 =

9 × 12 ＝ 108

＋999

2 × 15 ＝ 30⑦

2 × 16 =

2 × 17 ＝ 34

＋232

6 × 10 ＝ 60⑧

6 × 11 =

6 × 12 ＝ 72

＋666

3 × 32 ＝ 96⑨

3 × 33 =

3 × 34 ＝ 102

＋399

2 × 47 ＝ 94⑩

2 × 48 =

2 × 49 ＝ 98

＋296

3 × 18 ＝ 54⑪

3 × 19 =

3 × 20 ＝ 60

＋357

7 × 13 ＝ 91⑫

7 × 14 =

7 × 15 ＝ 105

＋798

かけ算を 広げて
年 組 名前

/１２


